you need:
BEAM Maths of the Month * 12 counters in two colours (6 of each)
* a paper clip or a bean

Connect three: money o 2 plagers

First of all
Decide who has which
colour of counter.

Put the paper clip here.

When it is your turn
Move the paper clip one
or two steps round the
loop and say the amount
where you land.

Put a counter on the grid,
on a square showing that
amount.

If there is nowhere to put
your counter, move the
paper clip one more step.

The rest of the game
Keep playing until your

counters run out. 1OP £1 £2 SOP

Both players, choose
three connected counters
and add up the amounts

of money covered. SOP 1 P 20p 2P

Who has the larger
amount? They win.

Sample game

Grey scored £1.55.
Black scored £2.52, 2p Sp £] 10p

so Black wins.
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